$$ $ étr/? & & Division ( 2 chiffres )

Nom: Date: Note:
75+3= 63+ 7= 9 +2= 27+3= 4+4=
60+ 3= 56+4= 36 +3= 84+7= 32+8=
32+2= 55+5= 14+7= 45 +9 = 75+3=
80+ 8= 96 +3 = 80+2= 54+9= N+4=
6+2= 65+5= 90+ 5= 98 +2 = 68 +2 =
12+3= 45 +3 = 18 +9 = 65+5= 40 +2 =
90+ 5= 12+4= 96 +4 = 63+3= 80+2=
84+3= 42 +17= 80+5= 70+ 7 = 90 +3 =
12+2= 90 +6= 84 +7= 2+2= 72+3=
87+3= 48 + 8 = 30+6= 63+7= 14+2=
96+ 6= 76 +4 = N+2= 46 +2 = 84+2=
56+ 8= 60+ 4= 84+2= 80+4= 35+7=
40+ 4= 46+ 2 = 56+2= 4+9= 99 +9=
5+5= 10+5= 68 +2 = 30+3= 66+2=
96 + 4 = 56+2= 90 +9 = 86+2= 16+2=
8§+2= 14+2= 2+2= 99 +3= I5+3=
40+ 4= 28+2= 14+2= 84 +2= 36 9=
91+7= 4+2= 33+3= 8+8= 40 + 8 =
49 +7 = 8+ 8= 90 +5= 42 +2 = 6+3=
15+5= 84+4= 20+5= 68 +4 = 90 +9 =

www.snowmath.com


https://www.snowmath.com

